9. cviceni - vysledky

Piiklad 1.
(a) ID B(Z) = —14
(b) ID B(&) = —2

¢) ID B(Z) =24

¢) PD, B(Z) = 13

)

)
(c)
(d) PD B(Z) = 42
(e) )
(f) NSD B(%) = —62
(g) ND B(Z) = —34

Priklad 2. Vysledky jsou tvaru (vlastni &slo, nésobnost, vlastni vektor).

(a) (3,1,{(=t,1); t € C\{0}}), (7,1,{(¢,3t); t € C\ {0}})

(b) (24,1, {(t(~1 —14),2t); t € C\{0}}), (—2i, 1, {(t(~1 +14),2t); t € C\ {0}})
(c) (6,1,{(2t,t); t € C\{0}}), (—=5,1,{(—3t,4¢t); t € C\ {0}})

(d) 3,2,{(t,1); t € C\{0}})

(e) (0,3,{(s,—t+3s,t); t,s € C\ {0}})

(6) (1, 1,{(t,#,2t); t € C\{0}}), (3,2,{(£,5,1); t, s € C\{0}})

(8) (2,1, {(t:t,); t € C\{0}}), (23,1, {(2t, (1 +iv/3), t(1 +iv/3)); t € C\ {0}}),
(=3 1 {(2t,¢(~1 — iV/3),t(—1 +iv/3)); t € C\ {0}})

(h) (=1,2,{(0,£,2); t € C\{0}}), (2,1, {(, 8,%); t € C\{0}})

(i) (1,1,{(=2t,0,—t,2t); t € C\{0}}), (2,1,{(0,t,—t,t); t € C\{0}}), (—=1,2,{(t —s,—t—s,t,8); t,s €
C\{0}})
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